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gFjp I 

 rupahd tpilapd; fPo; NfhbLf. 

01. 120mm Neu; NfhL xd;wpid 4 rk gFjpfshf gpupg;gw;F gad;gLk; cgfuz 

njhFjp ahJ. 

1. %iy kl;l Nrhbfs;>  

2. gphpfUtp> mbkl;lk; 

3. ftuhad;> mbkl;lk;>  

4. mbkl;lk;> ftuhad;> %iykl;lk; 

02. mWNfhzp xd;wpid mikf;f Njitahd cUtfk;. 

1. mbkl;lk;  2. ftuhak;  3. ngd;rpy; 4. %iykl;lk; 

03. xU kpd;Fkpis fl;Lg;gLj;Jtjw;F gad;gLk; Msp vJ? 

1. xUKid xUtop Msp  2. xU Kiw ,U top Msp 

3. ,U Kid xUtop Msp  4. ,U Kiw ,Utop Msp  

04. cg Rw;W xd;Wld; cau; kpd;Ndhl;lk; xd;W gha;e;J nry;Yk; NghJ Vw;glf;$ba 

tpgj;jpid jtpu;f;f gad;gLj;Jk; cgfuzk;? 

1. MCB, RCCB   2. ISC lator, MCB 

3. ISO       4. ISO Isolator  

05. gpd;tUtdtw;Ws; NPN jpuhd;wp];uh; Fwpf;f gad;gLk; FwpaPL  

 

1.    2.   3.   4.  
 

06.  N[u;kdpak; ,Uthap xd;wpd; Kd; Kff; Nfhly; mOj;jk; vt;tsT  

1. 08   2. 0.4  3. 0.6   4. 0.2 

07. kpd;Ndhl;lk; Fijntsp toq;fiy nfhz;l Rw;W gad;gLj;jg;gl Ntz;ba kpfg; 

nghUj;jkhd kpd; Rw;wilg;ghd;. 

1. 64 A  2. 10 A  3. 16 A  4. 20M  

08. %d;W mfj;ij kpd;Rw;wpy; gad;gLj;jg;gLk;  

1. fgpyk;> fWg;G> eiu    2. ePyk;> fgpyk;> rptg;G     

3.  fgpyk;> ePyk; gr;ir   4. fWg;G> rptg;G> fgpyk; 

09. kpd; gw;whR Nfhypd; Kidapy; gad;gLj;jg;gLk;; fk;gpapd; ngau; ahJ?  

1. ,Uk;G 2. ePf;Nwhk;fk;gp  3. nrg;G 4. mYkpdpak; 

Kjyhk; jtiz kjpg;gPl;Lg; guPl;ir - 2022 

aho;g;ghzk; ,e;Jf; fy;Y}up 

juk; - 11 

ngah; / Rl;nlz; .................................................................................. 

tbtikg;Gk; njhopDl;gtpaYk; 

 

Neuk; :- 3.00 kzpj;jpahyk; 
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10. kpd;Ndhl;lj;jpid msf;Fk; myF. 

1. A   2. V  3. W  4. M 

11. Nfhs;stpapd; FwpaPL ahJ? 

1.    2.    3.    4.  

 

12. Gtpj;njhFg;G fk;gpapd; epwk; ahJ? 

1. fWg;G  2. ePyk;   3. rptg;G  4. gr;ir 

13. tPl;L kpd;Rw;wpd; kpd; mOj;jk; ahJ? 

1. 100 v  2. 230 v  3. 500 v  4. 400 v 

14. cyu; fy; kpd;fyj;jpd; kpd; mOj;jk; ahJ? 

1. 7 v   2. 1.5 v  3. 6 v   4. 12 v 

15. 10 > 15 > 20 > jilfs; njhluhf ,izf;Fk; NghJ mtw;wpd; ngWkhdk; 

ahJ? 

1. 45   2. 20   3. 15   4. 70   

16. kpd; tYit fzpg;gjw;Fupa rkd;ghL. 

1.    2.    3.   4.  

17. fhl;b xd;wpy; tPr;rpy; 22 mike;Js;s NghJ tPr;R njupT Msp x 100 ,y; 

,Uf;fpd;wJ vd fUJk; NghJ mjd; ngWkhdk;. 

1. 2.2k   2. 2.0k   3. 20k   4. 22k  

18. kpd; Rw;W xd;wpy; kpd; xOf;F ,lk; ngWk; nghOJ vJ Kjypy; nraiy 

Jz;bf;Fk;. 

1. Msp     2. gpw Msp   

3. kpd; Fkpo; jhq;fp   4. kpFjp R.C.C.B Rw;wilg;ghd; 

19. ntg;g cwpQ;rpapd; gad;ghL  

1. jpuhd;rp];udpd; cUthFk; ntg;gj;ij cwpQ;Rjy;  

2. jpuhd;rp];uhpd; tbtq;fis khw;Wjy; 

3. jpuhd;rp];udpd; Fspiu cwpQ;Rk; 

3.  #l;bidj; jLj;jy;     

20. ntg;gj;jpid cwpQ;Rk; cNyhfk;. 

1. ,Uk;G  2. nrg;G 3. nrg;G> ,Uk;G 4. nrg;G> mYkpdpak; 

21. Xl;leak; FwpaPL (rkd;ghL) 

1. A = 
𝐼𝑐

𝐼𝐵
  2. A = 

𝐼𝑐

𝐼𝐸
 3.  A = 

𝐼𝐸

𝐼𝐶
  4.  1, 2, 3 rup 

22.  mtj;ij nghJ fhyp vt;tsT. 

1. 00   2. 1800  3. 900  4 1200 
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23. W vdf; Fwpf;fg;gLtJ. 

1. kpd;Ndhl;lk;  2. kpd; mOj;jk; 3. tY  4 ahTk; gpio 

24. gw;whR Nfhypd; Edpg;gFjp cUthFk; cNyhfk; vJ. 

1. mYkpdpak; 2. nrg;G  3. epf;Nwhk;  4. rpypf;fd; 

25. Xu; kpd;Fkpopy; 40w vd Fwpg;gplg;gLtJ vJ. 

1. kpd;Ndhl;lk;    2. kpd;mOj;jk;  

3.  kpd;Fkpopy; ntspaplg;gLk; rf;jp 4. ahTk; rup 

26. 3 A kpd;Ndhl;lk; ghaNtz;Lkhdhy; fk;gpapd; jbg;G ahJ? 

1. 1.5 mm  2. 0.2mm 3. 0.35mm  4. 0.5mm 

27. fhgd; Nru;f;ifj; jilapd; vjdhy; cw;gj;jp nra;ag;gLfpdwJ. 

1. fhgd; Jis 2. mYkpdpak; 3. nrg;G 4 ahTk;rup 

28. #oy; tif jilap gad;gLj;jpa ,lk;. 

1. Nkhl;lhu; thfdk;  2. kpd; rkpQ;ir tpsf;fpy; 

3. thndhyp    4. thfdq;fspy; 

29. mWNfhzp mikg;gjw;F Njitahd cgfuzk;. 

1. ftuhak;  2. ngd;rpy;  3. Ngid 4. rpul;il 

30. gy; khdp %yk; msf;f $baJ. 

1. kpd;Ndhl;lk; 2. kpd; mOj;jk; 3. jil 4. ahTk;rup 

31. nfhs;sstp ,izf;Fk; Kiw ahJ? 

1 njhlu; ,izg;G   2. rkhe;ju ,izg;G 

3. ahTk;rup    4. ahTk; gpio 

32. eLepiyf; fk;gpapd; epwk; 

1. gr;ir  2 ePyk;  3 kQ;rs; 4. fWg;G 

33. Nkyjpf Jiz cWg;Gf;fs; (tPl;L kpd;Rw;wpy;) 

1. ghTif   2. Msp 3. Gpujhd Msp 4. Ed;Rw;wilg;ghd; 

34. 5 A Gijr; Rw;wpy; gad;gLj;jg;gLk; fk;gpapd; msT. 

1. 
1

1
1

3

   2. 
1

1.03
  3. 

1

0.75
   4. 

1

101
 

35. re;ijapy; gutyhf fpilf;Fk; nts;spak;> <af;fyg;gpd; tPjk; 

1. 60% - 70%   2. 65% - 35%  

3. 40% - 70     4. 70& - 30%    

36. mUfpy; cs;s glj;jpy; ve;j Mzpfis fhl;Lfpd;wJ. 

1. ntsp mfdp  2. ,Uk;gdzp  

3. ngurodp   4. 1> 3 gpio    
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37. mjpy; cs;s tiuglk; vjd; tiuia fhl;Lfpd;wJ.  

1. nfhs;sstpapd; kpd; Vw;wk; miljy; 

2. nfhs;sstpapd; kpd; ,wf;fk; miljy;  

3. nfhs;sstpapd; rupia 

4. nfhs;sstpapd; gpio 

38. clypy;   fhl;Lk; Nfhzk;. 

1. $u;q;Nfhzk; 2. tpupNfhzk; 3. gpd;tisNfhzk;  4. nrq;Nfhzk; 

39. Nrit cUfpapd; gad;ghL 

1 kpd;Ndhl;lj;ij Jz;bj;jy;  2. nghUl;fis ghJfhj;jy; 

2. 1> 2 rup     4. 1> 2 gpio  

40. #upa glyj;jpid Mf;fg;gLk; %yfk; vJ? 

1. rpypf;fd;  2. mYkpdpak; 3. nrg;G  4. <ak; 

 (1 x 40 = 40 Gs;spfs;) 

gFjp II 

Kjyhk; tpdh> Ie;jhk; tpdh fl;lhakhdJ nkhj;jk; ehd;F tpdhf;fSf;F tpil 
jUf. 

(01) 1. xU gf;fj;jpy; ePsk; 40mm MfTs;s nrq;Fj;J cak; 40mm cs;s  

  mhpaj;jpd; tpupg;gpid tiuf.     (15 Gs;spfs;) 
 

(02) 1. tPl;L Rw;wpy; ghJfhg;Gf;nfd gad;gLj;jg;gLk; JizAWg;Gf;fs; vit? 
2. Ed; Rw;wilg;ghdpd; njhopw;ghL vJ? 
3. tPl;L kpd;Rw;W jpl;lglk; xd;wpid  tiue;J fhl;Lf 
4. kpd;dpypUe;J ghJfhf;f ehk; nra;af;$ba eltbf;iffs; vit? 

(3+ 4+ 4 + 4  = 15 Gs;spfs;) 
(03) 1. kpd;fhe;j gw;whRf; Nfhypd; glj;jpid tiue;J fhl;Lf? 

2. 230 v, 2.5 A, kpd;Ndhl;lk; kpd; cgfuzj;jpy; gad;gLk; nghOJ mjd; 
jilg;nghWkhdk; ahJ? 

3. gy;khzpia gad;gLj;jp msf;f $bait vJ? 

4. jilapd; gad;ghL ahJ?    (3 + 4 + 4 + 5  = 15 Gs;spfs;) 
 

(04) 1. kpd; fhe;j jhf;fj;jpid mbg;gilahf nfhz;L ,aq;Fk; cgfuzq;fs;  
   vit? 
2. nry;thf;Fk; nrYj;Jk; fhuzpfs; vit? 
3. epiy khw;wpfspd; gad;ghL ahJ? 

4. Gpskpq;fpd; ,lf;if tpjpapid jUf?  (3+ 4+ 4 + 4  = 15 Gs;spfs;) 
 

(05) 1.  tpupahf;fpapd; gad;ghL ahJ? 
2. jpuhd;rp];upd; ntg;g cwpQ;rp gad;gLj;jg;gLtJ Vd;? 
3. jpuhd;rp];upd; tupg;glj;ij tiuf ghfq;fis Fwpf;f? 
4. tpupayhf;fp gad;gLj;jg;gLk; re;ju;g;gq;fs; ahit?                       

                             (3+ 3+ 3 + 3  = 12 Gs;spfs;) 

V 
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